VIKING LLC LAUNDRY UNITSPARTSLIST - Updated 1/24/08
COVERS PRO SIX LOW TEMP WW UNIT, PRO LAUNDRY, PRO RELAY LAUNDRY & PRO MANUAL LAUNDRY.

PARTSRELATED TO THE CASE:

DESCRIPTION PART # UoM
2 PUMP CASE BOTTOM ONLY Mop [PRocASE [ m3s| Ea
3 PUMP CASE BOTTOM ONLY MOP [PR3PCSE M36 | EA
2 PUMP LID ONLY MOP [PROLIDS M37 | EA
3 PUMP LID ONLY MOP [PR3PLID M3s | EA
2 PUMP BOARD CARRIER MoP [PROCARR | mas5| EA
3 PUMP BOARD CARRIER MoP [Ps5BDC2P N3s | EA
PRO HINGE PIN MOP [PROHING Mas | EA
PRO LID PROP MOP [PROPROP M52 | EA
PRO BOARD CARRIER RAIL MOP [PRORAIL N4l | EA
PRO BOARD CARRIER RAIL SPACERS MOP [RAILSPC Ma6 | EA
"TWIST LOCK" FOR ALL 2 PUMP CASES WHERE TWO BOARDS ARE USED MOA [TWISTLK Mi3 | EA
PRO LOCK, KEY AND SPEED CLIP cxp |proLock | o000 | EA
PUMP HOUSING TO CASE & FACEPLATE SCREWS CHA [sx1/2ss 000 | EA
BLACK 1/2" NPT COMP. STRAIN RELIEF FITTING cwa [prycme | ooo [ EA
PARTSRELATED TO THE PUMP HOUSING:

DESCRIPTION PART # UoM
1 PUMP HOUSING (USED ONLY FOR 1 PUMP UNITS) MoP [PR1PMHS [ ma1| EA
2 PUMP HOUSING (USED FOR 2 PUMP, 4 PUMP, AND 5 PUMP UNITS) Mop [PR2PMHS [ Ma2 | EA
3 PUMP HOUSING (USED FOR 3 PUMP, 5 PUMP, AND 6 PUMP UNITS) MOP [PRV3PMP M23 | EA
PRO WHITE ROLLER ASSEMBLY (USE WITH 1/4" ID AND 3/8" ID VIKING PRO TUBING) VOP [ROLPRO vas | EA
PRO FELT PUMP PAD cxp |pumppaD | 000 | EA
MOTOR MOUNT SCREWS - 8-32 X 3/8" CHA |832x3/8 000 | EA
1/4" PRO NORPRENE LAUNDRY TUBE WITHOUT ENDS VOA [LNTUB-E vor | Ea
1/4" BARB X 1/4" COMPRESSION FITTING MWA [BRB1414 ADY | EA
1/4" PRO BLOCK (LEFT) MOP [1/4BLKL M3l | EA
1/4" PRO BLOCK (RIGHT) MOP [1/4BLKR M32 [ EA
1/4" JACO COMPRESSION NUT (ONE PIECE) CHA [1/4PIAC 000 | EA
1/4" PRO NORPRENE LAUNDRY TUBE WITH ENDS COMPLETE VoA [LNTUBWE | vos | EA
PRO CLEAR FACEPLATE ONLY Mop [PROFACE [ m1s | EA
PRO FACEPLATE BEARING ONLY MOP [FPBEAR M4 [ EA
PRO FACEPLATE WITH BEARING COMPLETE vop |[FCEBEAR | vea [ EA
MOTORSAND COMPLETE PUMP HOUSINGS FOR UNITS:

DESCRIPTION PART NO. UOM
2882 (LOW SPEED 30 RPM) MOTOR - ONLY USED IN PRO SIX UNITS - SPECIAL FOR LAUN. cMp [2882mOT 000 | EA
2885 (HIGH SPEED 120 RPM) LAUNDRY MOTOR cMPp [2885MOT 000 | EA
1 PUMP PRO SIX HOUSING COMPLETE pop [PROG/1P P04 | EA
2 PUMP PRO SIX HOUSING COMPLETE PoP [PROG/2P Pos | EA
3 PUMP PRO SIX HOUSING COMPLETE popP [PROG/3P P06 | EA
1 PUMP PRO LAUNDRY HOUSING COMPLETE - (USED ONLY FOR 1 PUMP UNITS) POP [1PUMPLN Po1 | EA
2 PUMP PRO LAUNDRY HOUSING COMPLETE POP [2PUMPLN P02 | EA

(USED FOR 2 PUMP, 4 PUMP, AND 5 PUMP UNITS)

3 PUMP PRO LAUNDRY HOUSING COMPLETE [ pop [sPumpLn | Po3 | EA

(USED FOR 3 PUMP, 5 PUMP, AND 6 PUMP UNITS)

COMPLETE PUMP HOUSINGSHAVE 1/4" PRO LAUNDRY TUBES - FOR OTHER CONFIGURATIONS PLEASE SPECIFY

TUBE MATERIAL, SIZE, AND FITTING CONFIGURATION.




CIRCUIT BOARDSAND MANUAL LAUNDRY REMOTE BOXES:

DESCRIPTION PART NO. UOM
PRO 2030 BOARD - PRO LAUNDRY & PRO SIX MASTER BOARD BOP [PRO2030 po2 | EA
PRO 2032 BOARD - PRO LAUNDRY & PRO SIX SLAVE BOARD BOP [PRO2032 P08 | EA
PRO 2034 BOARD - PRO MANUAL LAUNDRY MASTER BOP [PR2034C P13 | EA
PRO 2035 BOARD - PRO MANUAL LAUNDRY SLAVE BOP [PR2035C P11 | EA
PRO 2036 BOARD - PRO RELAY LAUNDRY MASTER BOARD BOP [PRO2036 Po9 | EA
PRO 2037 BOARD - PRO RELAY LAUNDRY SLAVE BOARD BOP [PRO2037 P11 | EA
1 PUMP MANUAL LAUNDRY REMOTE BOX VoL |ML1PBOX | vo2 | EA
2 PUMP MANUAL LAUNDRY REMOTE BOX VvOL |ML2PBOX | vo3 | EA
3 PUMP MANUAL LAUNDRY REMOTE BOX VOL |ML3PBOX | Vo4 | EA
GENERAL HARDWARE FOR LAUNDRY AND PRO SIX UNITS:
DESCRIPTION PART NO. UOM

SPECIAL VIKING DIP TUBE FOR 1/8 & 1/4 OD SUPPLY [ vos |oipspec | s13 | EA

TUBING - 18" piece of gray PVC 3/8" Sch. 80 pipe with a pigtail strain relief fitting

that accepts 1/8" OD or 1/4" OD supply tubing. ONE PIECE
DIP TUBE WITH 3/8" -18" PVC ONE PIECE vOs |DIP-3/8 v3s | EA
Dip Tube New - 16" PPH .250" OD x .170" ID CHA |DIPTB16 000 | EA
Dip Tube FITTING - 1/4" Comp x 1/8" Comp Jaco
Union Fitting Polypro - 1/8" FITTING CHA [1/8X1/4 000 EA
1/4" COMP JACO UNION FITTING - POLYPRO CHL [15-4FIT 000 | EA
1/4" JACO COMPRESSION NUT (ONE PIECE) USE FOR CHA [1/4PiAC 000 | EA

PLASTIC TUBING ONLY (<50 PSI)
1/4" JACO COMPRESSION NUT WITH SS RING AND [ cHA J1asacP [ 000 [ EA

PLASTIC FERRULE FOR USE WITH COPPER AND STAINLESS TUBING - USE UP TO 100 PSI.
3/8" JACO COMPRESSION NUT (ONE PIECE) CHA [3/8NJAC 000 | EA
SCREW AND ANCHOR PACK (2 EACH WALL CHA [scrwANC | 000 | EA

ANCHORS AND 1" PHILLIPS HEAD SCREWS)
15' ROLL OF 1/4” OD PE SUPPLY TUBING CBA [1/4-15 000 | EA
50' ROLL OF 1/4” OD PE SUPPLY TUBING CBA [1/4-50 000 | EA
3/8" OD BULK SUPPLY TUBING (SPEC. QTY. IN FEET) CBA |66PTUBE 000 | FT
3/8" OD SUPPLY TUBING - 15' ROLL CBA |.375X15 000 | EA
1/2" NPT COMP. STRAIN RELIEF FITTING (BULKHEAD INJ FITTING FOR 3/8 OD SUPPLY) CcWA [DrRYcLMP | 000 | EA
1/2" NPT BLACK NYLON NUT FOR STRAIN RELIEF FITTING CHA [1/2NNUT 000 | EA
1/4" PIGTAIL STRAIN RELIEF FITTING (BULKHEAD INJ FITTING FOR 1/4 OD SUPPLY) CHA [FLEXCON 000 | EA
1/4" NYLON NUT FOR STRAIN RELIEF FITTING CHA |FLEXNUT 000 | EA
HARDWARE SPECIFIC TO PRO SIX UNITS:
DESCRIPTION PART NO. UOM
HOLE PLUG INJECTION ASSEMBLY FOR [ voa [Hp-INg [ vao | EA
1/4" TUBING COMPLETE

1/4" PVC CHECK VALVE FOR ALL CHEMICALS VOA [1/acpev Vo7 | EA
BRASS 1/8" MNPT X 1/4" COMP. STRAIGHT FITTING CHJ |1/4STBR 000 | EA
PLASTIC 1/8" MNPT X 1/4" COMPRESSION STRAIGHT CHA [1/4x1/8 POl | EA

FITTING FOR 1/4" RINSE INJECTION
KYNAR 1/8" MNPT X 1/4" COMP. STRAIGHT [ cHA Juakyrr | 000 | EA

FITTING FOR 1/4" RINSE OR SANITIZER INJ.




WIRING & HARNESS COMPONENTS FOR PRO LAUNDRY & PRO SIX:

DESCRIPTION PART NO. UOM
6" BOARD TO BOARD POWER JUMPER VOA |PLNJMP1 JO1 EA
16" BOARD TO BOARD POWER JUMPER VOA |PLNJMP2 J02 EA
LAUNDRY POWER CORD W/PANDUIT END VWP |9FTCORD W19 | EA
3 CONDUCTOR TRIGGER WIRE CWA |18/3CAR 000 FT
5 CONDUCTOR TRIGGER WIRE CWA |SCOND- 000 FT
7 CONDUCTOR TRIGGER WIRE CWA |1898/70 000 FT
10 CONDUCTOR TRIGGER WIRE CWA |10CNDRL 000 FT
.250" FEMALE QUICK DISCONNECT TERMINAL TO CONNECT TRIGGER WIRE TO BOARD CQA |2218FQD 000 EA

VIKING LLC
A DEMA Company

512 Industrial Road, Nesquehoning, PA 18240 USA

Tel: 570-645-3633 or 800-441-1343 (US Only) Fax: 570-645-3679 www.thevikingbowl.com




